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Q.1) Choose one correct alternative. 30

arg | e iy feer

Write the question number and one correct alternative
in the answer paper.

Multiple choice question. Each question carries 2 marks.

1. Four bells ring at intervals of 3,7,12 & 14 mins respectively. All
four bells rang together at 12 noon. When will they ring together
next time ?

IR ST SHA 3, 7, 12 307 14 MR A aﬂé’rqagqlfmzammmq
SIS I, T AL Sieesiiar aRd) HeT than S e ?
A) 1:24pm B)12:24min C)2:24pm D)1pm

2. 15 % of students of a school were absent on a specific day . If there
were 1020 students present in the school that day , find the total
number of students in the school ?

Tl feereft wmesditer 159% feremeff srqufer 8. S 1020 ferenslf e fearsht waa
3Tl STEee o I Ses e fernelf et @i 2

A)5780  B)1200 C)1250 D)1180

3. Aman purchased 150 oranges at the rate of 3 oranges for 20 Ru-
pees and another 160 oranges at the rate of 4 oranges for 30
Rupees, and sold all of them, an orange for 6 Rupees rate, whether
he will have profit or loss, by what amount ?.

T SR 20 TR 8 W A Y 150 T W) Il 3T 30 T 4 G0
160 Tt Y et F vl wf 6 TYAY U W A1 a0 et T AT SR
SZHICT T ST T dleT ? il 2
A) Profit 7%, Rupees %93 120  B) Loss 2T, Rupees 93 620
C) Profit 7%, Rupees ¥94 320 D) Loss 2], Rupees 9% 340
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In figure A, five squares with sides lem, 2érh, 3cm 4cm and Scm

are arranged in the ascending order. In figure B they are arranged

as shown. By how much does the perimeter of the figure B exceed

that of figure A ?

ST A T 1260, 20, 33, 4300 anr 5 A o1 S O T -

Y ISt TR, R B T GREEmA) Sl S e S S S,
WB#WWAWWWWW&% ?

1em 2cem 3(:11*; 4cm 5 cm
1cm 4 cm 2 cm 5 cm: 3 cm
(A)0em ~ (B)4cm _(C) 10 ¢m (D) 14 cm

A fan switch is in the off mode. A boy turns it continuously to
slow, medium, high, off, slow, medium, ... in the same direction,
for each operation counting 1,2,3,4,5,6,.... . After 210 operations,
in which position will the switch be ?

e T FET e S R, 9 e 9T W ge, A, S, S, %,
T, S 9, o Y PR, R A 1, 2, 3, 4, .. 3T A Ted!, T
910 1 & fFan et a9 i e I ? :
(A) off B)slow  (C)medium (D) .high

AR (B) 7% ~(C) wem (D) iwE

In a piece of paper there is a simple equation of numbers written.
A drop of ink fell on it and made a stain , covering an arithmetic
symbol or a digit. The equation looked like

121-2 @ 3-41+123=0. "

The symbol or number under the stain is .

e TR, ST AT 3113, W U 4 A W T AT ST
@mmw@mmmﬁmmm 121-2 @
g—41 +123=0. R T e SR R A 3 Feel el I ?
A)x B) -1 C+ DO
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- 7. Line AD 1l to line BC. A(AABC) = 12. What is the A (ABDC)

10.

I AD 11 31 BC. A(AABC) = 12 T ABDC &% fordl ?
A)13 - B) 24 012 D)21
A D

<

< e e
If the product 42 X [, is divisible by 9, which smallest number is
in place of 0 ?

el 42xu.w9ﬁﬁ:ﬂwmama§ammanﬁm,mﬁvﬁmm ?

A9 B)6 )1 D)3

To open a safe, some three digit code needs to be used. It is known that
only three digits 0,1, 2 exist in this code. The sum of the digits used in
the code should be 2. Find the number of ways this code can be set.
(you can repeat the digits)
wﬁﬁmﬁmﬁmmwwmw 1 Frewed 0,1, 2
% 37 ST 37T, a@amaﬁm@m@wa}aﬂ?ﬁaﬁazaaﬁﬁm@. 3
HIE fohell PR e AT ? (Ueh ik ST ATl 7 o)

(A)3 : B)6 - ©9 - (D)12

OABCD is a square. ZABE = 2 ZDAE = 30°.

- The side of the square is 10 cm. Find the length of EC.

(A) greater than 10 cm | (B) equal to 10 em. (C) less than 10 cm
(D) not possible to calculate with the given information.

CABCD & &I 318. ZABE = 2 ZDAE = 30°. =aren arse ot 10 390
3R, W EC =t aist et /et ?

(A) elEn s (B) 10 39 (C) 10 4 dem et

(D) Rt mifedias ST vmrer T, A ‘ i B
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13.
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If 5=4+6-5,12=11+13— 12 and 23 = 22 + 24 — 23, then what is
: ; A A ATA A ¥ A A '

the value of 40 +41 +42+43 +44+ ..+ 49+50 ?
N ) .

S b=4+6-5, 12=11+13-12 a1 23 = 22+ 24 23
AN FaS . A N N Al A

W40+ 41 +42+43 +44 +... + 49 + 50 = Tt ?

(A) 505 (B) 495 (C) 455 (D) 465

Find the remainder When the number 201620 1620162018 is di-

vided by 2016.
2016201620162018 =1 T 2016 3 TS A m’r R ?
(A) 2008 By1 (C) 2007 (D) 2

The average of ten different positive integers is 10. The smallest

- is 5. Which can be the biggest of these numbers ?

14.

15.

Q. 2)

- @1 SHTTeHTooA 7 qUTTeh A TUEd 10 ST mﬁaﬂmmmsﬂ%

T Hica "] g foedt a8e ?
(A)55 . (B)49 ©) 25 (D) 19

The number 111 ... 1111 is 29 digit number. It is multiplied by

2009. The third digit from the left of the product is

111 ... 11117% 29 7 Fer 2. fre 2009 3 o R TN SHwST
forey siep HIvTeT T 8E ?

A1 (B) 2 ¥ g - . (D) 9

Find the next élphabet in the sequence A , H ,I.
A, H, I a1 5idfie T 3rei sftes,
(A) J (B) K (C) M ' (D)N

Write the answer with short justification;

A bus can accommodate 78 passengers. The bus starts out empty
and picks up 1 passenger at the first stop, 2 passengers at 2nd
stop, 3 passengers at 3rd stop, and so forth. After how many stops
the bus will be full?

e e 78 AR S V. S Geaiien R 215, Glgedl e AEn
1 Ay =l T AT 2 YA ed. e 3 sl Sedr. dHHo! e
w75 ST bl et o of et 7

20

Thn
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A certain natural number is divisible by 3 and also by 5. When
the number is divided by 7, the remainder is 4. Which is the small-
est number that satisfies these conditions ?

T Aqfife Geier 8 3 2T 5 90T St & Geien 7 3 Aol ol el 4 3%,
a1 7t guf ST el TR e v 2

~ Intriangle AABC, side BC is extended. Point D is on the extended

segment BC, as shown in the figure. ZACD is 120° and
ZA=2 /B. Find ZA and /B .
A

B C D

3iier st ABC =1 aieeieiean 91 BC & D & o fig IR, LACD 399
120° 3737 3H £A=2/B, W LA T £B i 919 &l

Each of the nine paths in a park as given in the figure are 100m
long .Abida wants to go from A to B without going along the same
path more than once . What is the length of the longest path ?

C E

D '
STl TReaHIo) W ST =9 TR AR, Sedish Teer et 100 . 37, sy
A &g B %2 SIAHT a1 (A6 W, 51 A1), 3730 $ei T Tl Uohare arefd
A U B 9 SO el e W e/ 3 fd 2

A fruit seller bought 11 dozen mangos for a certain cost. After sell-
ing 10 dozen of the mangoes at a certain rate he recovered the cost
price. If he sold all the mangoes at the same rate, what was his
percent profit ?

TH e fashem 11@3&%%%%%@ el 10 S s i
T R e S R e e, Ui%ﬁéua‘aaﬁmﬁanﬁﬁmﬁtm
SieT e et grem ?
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The neighbours of a two digit number are a prime number and a
perfect square . How many such two digit numbers are there ?

Wﬂ@mmﬁmwa@aﬁgﬁﬂmmﬁmﬂ%

- mwmmmmma@aﬁm

10.

D

71704AB26 is divisible by 99 . Find A & B.
1704AB26 a1 GEAT 99 7 ot ST S 3R T A 31T B R 37 Hivrd it
d Frer ?

Simplify. 99 &9 .
1 5 1 &
(491 x 332) (491 x 159) (159 x 332)

In AABC, ZA islarger than ZC by some degrees and Z£A is smaller
than /B by same amount. If Z/B = 67°, then find the measure of
£C?

BT AABC, £A &1 /C Ve @l sii-i Hiar 318 31 LA & /B Ul daer
3T e 3R, S B 3 WY 67° 38l T £C = Wiy fkdt 2

Among 7 men, 11 women and 5 boys Rs. 140 are divided such that
a) A man gets thrice as much as a boy gets .

'b) One woman gets the amount equal to the sum of the amounts

that a man and a boy gets.
Find how much a man , a woman and a boy gets ?

7 qeu, 11 R o7ifoT 5 qetimed 140 €. 3790 TS A e i

a. Yedsh JEUTET T areA fwe e fHes.

b. @wwwmmemwmmm W
Ye2ish e, Weieh Hft & Yok ere fohill ehd e o el

Write the answer with justification. ' 30

Four cards, each having a number written on one side and a phi'ase

_on the other side . The numbers written are 7, 2, 12 and 5 . The

phrases are,

Divisible by 7; II) prime; III) odd; IV) greater than 100 .

On each card the number DOES NOT correspond to the phrase on
it. Find the number on the card with the phrase greater than 100.
If possible.




30

) )
H ST T AT GH=A S A Rifeeret 4 FTE S e, st
§e 7,2, 15, 5 1 3 2 dmaieie miid (@it ) wreie s
A : :
D) 73 am Sond wen 1) q@ wen
IIT) o s V) 100 e @it e
mmmmmmmmmmmwﬁw
e St et sreeieRn SR S o 2

A block of cheese is cut into many pieces. Number of mice came
and stole different number of pieces each. Lazy Mary watched this
and noticed that each mouse stole less than 10 pieces and no mouse
stole exactly twice the number of pieces stolen by any other mouse.
What is the largest number of mice, Mary could have noticed?

T I 1008 B THS YA, '
Wﬁﬂ@ﬂ.mﬁﬂﬁmﬁﬂﬁwﬁﬁéﬁ?aﬁﬂﬁ%m?

Find the largest number so that when each of 430, 910, 1830 is
divided by that number, leaves same remainder '

mﬁrﬁmqﬁaﬁwsﬁuﬁﬁmo,gloaﬁu%ommwm
SRl ARG 378t ?

.‘ 22
Assume for simplicity that the Area of circle is given by - X e,

where r is the radius of the circle. In the figure the radius of all
the circles is 14cm . Find the area of the shaded region .




(A)

(8)

ﬁw:-méwaﬁm%@m%% x v2 3TE 3R YOS, ST Seieh Aol
ﬁwm@ﬁfaﬁaﬂgﬂﬂ?ﬂﬁmﬂmﬁmm? |

In a bag there are 481 coins of Rs. 5, Rs. 2, Rs. 1 and 50 paise coins
denomination. The total value of each type of coins is the same.
How many coins of 5 Rs, 2 Rs 1 Rs and 50 paise each are there ?

et o 481 Al STRA. e i 5, T, il 2 T, el 1T
T Tt 50 eI SR, S eI AV 2T W YRE 3. W el
forordi 5 5.4, 25,5, 155 enfor 50 e Gt Aoh smRa ?

ABD, BAC, DCE are 3 digit squares. A = 5. Find the possible dig-
its for B, C, D and E. Fill up the adjacent square.

ABD, BAC, DCE r & i qof avigen aed, A=5.WB,C, D, E%aﬁv@r
a@ﬁ?mﬁw@m

- A ] B | D

B | A C
D 8 E

In rectangle ABDE sliown below, AB =5, BC =7 and CD = 3. Find
the (A) area of triangle BCF  (B) length of AD (C) If area of

AAFB is 12 ,find FE.

a7 ABDE 73 AB = 5 91, BC=7 7 9+t enfer CD = S@Iﬂa@aa{@ﬁrﬁa
e eEL

ABCF = &5%a, (B)AD%?IFHETT (C)mAAFB%éawmaiﬁa@am
FE =i &isll el

A Fo | E




8.

10.

Q.4)

2.

) :
In the figure, if AB = AC = CD and m/BAC = 327, then find Z/BAD.
FIHE AB = AC= CD anftT Z/BAC ¥ 7 320 3R, W ZBAD ¥ 719
e,
A

If the measure of each the acute angles in the figure above is the
same, find the measure.

ST TS STGANIC T8 Tl A9 9o 3, o o A9 Redt 2

There is a fruit having weight of 120 gm., which contains 98%
water. When the fruit was kept under the Sun for some time, a
part of water evaporate The water then was 95% of the fruit weight.
Find the weight of the fruit at present ?

98% vl STHciedl T Hhedld a5 120 T 7R, SR ¢ Hed el A8 38T S
el Heh U STSd9aH SeaTe Hheoldiel Il HesredT g 95% el
IS T el ST Fo fahell o7 2 |

Write the answer with justification. (any 4)

FNUEE SN (=L (RIVEE %)

AABB is four digit perfect square. Find A and B. How did you find
it ? :
AABB & =R &l ol &7l T 3718, T A 11 B et ? 9 et o fora,

In the given figure six circles are shown. Place digits from 1 to 6,
on the circles, such that no two circles have same number. The
sum 'S 'of the numbers on each side is the same. Give combina-
tions having three different sums 'S'.

30
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1,2,3,4,5,6 8 3ich &1 agesiTed 34,
1. Pradwivdie oid e swR.
2. BT e AEriel S i e W ot € 409 S o

-wmmmmm@m‘s’wﬂwmw

el

50 students are standingon a circle, having numbers 1 to 50. Stu-
dent no. 1 has a ball in his hand . He pats student to his right side
which is no. 2, at the start. So that student no. 2 sits down and is
out of the game. Then 1 passes the ball to the next standing stu-
dent to his right. , no.3 . Now 3 pats no. 4, he sits down . No. 3
passes the ball to No. 5 and so on.

Same procedure is repeated over and over . In each round about

" halfthe students go out of the game , eventually only one student

is left. Standing with the ball. Who is this last student ?

' mwmsommﬁ%.iwmﬁmwéﬂ%m

.1 T 3T SO ST U el 6. 2 T TUed e Gt se.
areh s e @ a1 3. e 3. 1 AT SRk s SSeAT Al
et e sevr foranelf 3.3 % 2. vl 3. 3 € 3. foeif . 3 37
ﬁmﬁf%.4mmﬁwaﬁvﬁmmaﬁmﬁmsa@amm@a
92 g T | ‘

Do o o e Gee remor fre Rl o g s wedt g
SieT STadieT e T e Ted, w & Ve et e SR ?
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4. Every triangle is equilateral. If area of shaded triangle is 1 sq.
unit. Find the sum of areas of gll the equilateral triangles.

AVAN

- There are 240 puplls in a school There are three news papers. P1,

P2 and P3 in the town.

a.

b
c
d
e
f
g
H

240 ferardf sraeiean wE e P1, P2 PBWWWW%W.@W
WWWWHWWWMM

- 60% ferandf P1 gaw Srer.

o

R«

: m%ﬁmﬁtﬁ?ﬁmmaﬁmﬁ7

60 % read P1.

. 50% read P2 .

. 50% read P3.

. 20% read P1 & P2,
. 30 % read P2 & P3.

25% read P3 & P1.

. 10 % read all the three P1, P2 ,P3.
ow many read only P1?

509% feraet P2 g s,

50% Teraef P3 gvd reiid.

20% ferandf P1 311 P2 e areem.

30% ferandlf P2 a1fo1 P3 g .

25% faermdt P1 371 P3 ga9 areidr.

10% frardf P1, P2 3fer P3 & e arem.




